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2. a. handedness main effect, significant; illumination main effect, significant; interaction, nonsignificant



b. handedness main effect, significant; illumination main effect, nonsignificant; interaction, significant

¢. handedness main effect, nonsignificant; illumination main effect, nonsignificant; interaction,
significant
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thrill seeking, significant; alcohol level, significant; interaction, significant
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6. a. The handedness main effect was significant (p < .05); dextrals spent more time on target than
sinistrals. Theillumination main effect was significant (p < .05); performance improved with higher
illumination levels. The interaction was not significant.

b. The handedness main effect was significant (p < .05); dextrals did better than sinistrals overall. The
illumination main effect was not significant (p > .05). The handedness/illumination interaction was
significant (p < .01); dextrals outperformed sinistrals at high and low levels of illumination but did
worse at medium levels.

Neither main effect was significant (p > .05). The interaction effect was significant (p < .01); sinis-

tralsimproved as light levels increased, whereas dextral s got worse under the same conditions.
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